EARAROBREBRT —5 XN—ZXBISH—F

2022666827H (B) 6@AH1H

Im=EE B1=B2— U>%—HK

‘(fﬁ} W ‘I%EH?’JF&] | & 15000 =

[AE$] 1 7% :3,000,000 F  23#&:1,200,000H / 3&:

750,000 3 4 7 :450,000 @

5 7& 1 300,000 M4

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
» A BEESXH : -2-1- - HFEEFE (KH)
10> ARRF—KNIL 4 5 50 1.(5?).3 2-2-1-1 | 40.1 3 (4_9;) TE?&E&E%
Ri0rb B:HYFAT7F e
S v 5 | Gl 1:53.4 7-7-66 | 39.4| — | 10 | 422 |{PEEHR (i6i8)
217| 9 | Ab—LEYT 57.0 L) (g |ERTEE
Ri/—YVUN— BEIYRN—=A B IE—
wH— o6 | AR 1:53.4 3-3-3-3 | 40.0| - 6 | 493 |KHEE W)
36| POEYY 57.0 &) 1 | @) HETF—L
R:7PRIAVA—5 B:evoVIT HET7—L
. B’e%E : -5-5- - LU EAE (fatE)
45|55 | RR/FPUI— o7 e 1(.15/32.)5 5-5-5-5 | 39.7 4 (5_011) %ﬁﬁ%f? &
R:I—IWRFPUI— B:FIFIFUIER ESHIT7—L
q s 6 | EWEER 1:53.6 4-4-4-4 | 40.0| - 1 491 | SHE— kH)
51811/ 7T—KF7D b 5.0 @E) *3) Hig—
RNVY =)L BR—ILKRIY 3V 2 =IBRIS
=S s 5 | BEEK 1:53.7 9-9-10-10 | 38.9| — 7 | 490 |N\EHEFEZRE ()W)
] 4 SUSU 53.0 (3/4) o) EJII%?(E
R:HvAhvO #:NLIHY LSH=T7—L
os ) R ty 7 | BIR 1:54.1 8-8-8-7 [39.8| -— 5 471 | BPIEA ()
717| 8| REV RIS — 55.0 %) g |BEHT
RIN=RZANY B:Fv9574« F—U— - Iv I\ - T7—LBRR
o ® H%% : -10-9- - ERIBAD (1\HE)
8l8lio| TNVIrR—IL 4 5 i (11514/5 10-10-9-9 | 39.7 9 5(3)2 #I:b(%
R:O—IRA VA B:IUVAV YYD YYNIIITIT7—L
= Y 4 | BARE 1:55.8 6-6-7-8 | 41.8| — 8 | 472 | FELLBER ()\#K)
9 719735% 57.0 @ 1) |SEBS
R:FZAIVNITFH— 8B:FIW—T7FT35Y HERARIS
=\ pe = KHEZ :57. -1-2- . - REIEE (KH)
1011 |33vyaro R e R I Pt |cmme
RIIRRT—IVYF— B:N\OD1V/SU—R ENGEeT ]
< o A2 - - - - - — | BAHE (IR
sk 3| b—tr70-K o4 B (BH) (=) %%ﬁo)
Rib—€YI7Y ML B:b—tEYRTIU1— AR IRFAT7—L
@ 1—F—&RIEL
13—7— 1,2,6,11,5,7,9,8,4,10
230—F— 1,2,6,11,5,7,9,8,4,10
30—7— 2,1,6,11,5,9,7,8,10,4
4J—7— 12,1,6,11,5,9.,8,7,10.4
o ILRE
BB 2 400M4 JA R 2-9 2,990 % 3E 2-7 2,430 3EE 2-6-9 27,150/
B B 2 170/ 2-6 990MH (=1 2-7 4,080 3EH 2-9-6 162,810
9 1,020 6-9 6,010 5 & 2-9 12,690
6 3904 =51 2-9 16,020

ABIC OV TRUTEREERRODDZE. THRIIZEL.




